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67 Q 9 67 73 74 79 80 89 |90 96
q -0.2593 (-0.187)] 01983 (0.182)] 95718 (2658)| 5.1511 (4.742)] 03858 (1.297)
B 05478 (0.035) -7.3349 (-0965)|  4.3827 (0.080)|-24.7014 (-0.964)| -26.8444 (-1.640)
B 25205 (0.163)| 72166 (0.862)| 51.6149 (1.105)| 14.4034 (0557)| 54.4644 (2.701)
v 05269 (9.280)) 03711 (4612)] -0.2274 (-1.399)] 08061 (10.642)] 1.0208 (4.197)
5 63492 (1.127)] -2.2118 (-0.986)] -97.1210 (-3.984)|-13.1449 (-1.285)|-32.2625 (-2.786)
5 6.7873 (2264) 42963 (3547) -61.8245 (-4.213)| -7.5883 (-1.298)|-12.8050 (-2.140)
5 67770 (4.022)| 87403 (7.922) -33.6686 (-4.375)| -3.2579 (-0.902)| 1.7030 (0.543)
5 6.3184 (3224) 11.1203 (7.816)| -12.6534 (-2.780)| -0.1538 (-0.042)| 11.2614 (2.915)
5 54113 (2275)| 114363 (7.280)) 12210 (0.245) 17240 (0.413)| 158703 (3.273)
5 40559 (1792)] 96882 (6.908)|  7.9547 (1530)| 23756 (0.610)| 155297 (3.331)
5 22522 (1520) 58761 (6.657) 75477 (2.070)) 1.8009 (0.712)| 10.2396  (3.340)
R 0.6987 0.9066 0.8479 0.8453 0.9160
1.5072 0.4164 1.2234 0.8549 0.7837
0.4764 1.5309 0.7407 1.0677 1.3656
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